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1.

Cardinal measure of utility is required in :

(A) Utility theory (B) Indifference curve analysis
(C) Revealed preference (D) Inferior good

The pay-back period refers to :

(A) The number of years a project takes to recover its investment (original)
cost

(B) The number of installment to make pa@z

(C) The time-lag between investmen angmmissioning of the project

(D) The time required to attair @

Indifference curves are usuﬂ;;%

(A) Convex @ (B) Concave
.

(C) L-shaped \® (D) Vertical

The term oppoxtunity cost refers to :

ven point

(A) Cost related to an optimum level of production
(B) Variable cost
(C) Short-run cost

(D) Cost of one product in term of production of others forgone
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5. Alternative hypothesis is expressed by :
A Q (B) P,
(C) Hy (D) H,
6. Correlation is expressed by :
(A) X (B) ZP

C) r (D) TWX

7. Which is used when sample size is small ? @
(A) t-test (B) @e |

S
(C) F-test @ none of these

8. Two events are said to be in ;dent,aaperthetbzory of probability, if

“

the occurrence of one/:
' 'S
(A) Prev% ce of another

(B) Makes the probability of occurrence of other as zero '
(C) Affects the probability of another

(D) Does not effects the probability of occurrence of another
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5. Wwﬂmmmﬁhﬁmt:
A) Q TW (B) Py B
(€) Hy g D) H, T
6. wewmM wefifa fra s ® -

(A) EX BRI (B) ZP &1

© rEm (D) M§
7. mmmmmﬁﬁﬁnﬁ%ﬁr@ % ?

(A) t-test qEAw

(C) F-test ‘Q(m wH q A

8. wiasa fagra &

o wages

(B) YA F! 30§ I & WA H WigHaQ

wWaA H6 €, g uw wed ¥

|/ TFa ¥

(€) TW F wigwm F wafaa @ ¥

(D) TE F WAHA B UWiaa TE HE
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9. The sum of squares of deviation of 20 observations from their mean is 720

and the mean is 60. The coefficient of variation is :
(A) 5% (B) 10%
(C) 15% D) 20%

10. A measure characterizing a population is called a parameter and a similar

measure for a sample is called :

(A) Standard error (B) Non-fl@ter
) Q}m

(C) Sampling error

afistic
| .
11. Range of the coefficient of oorre% :
(A) + 0.25 ®.*~ (B) +05

€ +10 o @ D) + 20

12. When variat% the values of two variables have a constant ratio, there

will be :
(A) Zero correlation (B) Linear correlation
(C) Non-linear correlation (D) None of these
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10.

11.

12.

20 A ® fagaa & @i w1 @m 720 ¥ 3l = shwa 60 ®, famen s

T o:
(A) 5 wfasa (B) 10 wfae@
(C) 15 wiaem@ : (D) 20 wfasE

FET F A H I9F GOeier weena ¥ @ T oA TR W A HwOITE
o

(A) WrAw Ff2 (B) -

O

(C) - Ffe &Wﬂﬁ

W.mﬁmﬁ?ﬂtl
@ (B) + 05

(€) + 10 \2\\ D) + 2.0

wa D W R g ow famen uw wWr sgm A 8 ol @ o

(A) + 0.25

(A) YA HEEEH (B) g HaEEry

(C) -TEm wEwa (D) =4 A = T
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13.

14.

15.

16.

17.

Non-budgetary control tool is :

(A) Inventory control (B) PERT

(C) Quality control (D) All of these
Contributiop less fixed cost is :

(A) Profit | (B) Sales

(C) Price (D) MOS

PERT is a technique used for :

(A) Quality management (B) @ management
(C) Decigion-making @fkganizing :

Theory Z was developed by \
@ (B) Henry Ford

(A) Henry Fayol
(C) William (D) Charles Adams

A leader who takes decision after having discussion with his subordinates

is known as :
(A) Autocratic leader . (B) Benevolent leader

(C) Democratic leader (D) Free-rein leader
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13. Tr-wwdm = 3§ e
(A) wiF Fa=m (B) W (PERT)
(C) T Fra=m D) F =sf

14. IvER-—feor s

(A) @ | B) fawa
' (C) 9=4 ‘ (D) MOS (Hahsd)

15. PERT @&t®% wam Hi st & : @
(&) T ww W fe ®) iy #
(c) frfa 77 & fom @v’mﬁfm

16. 2-fagr fead gm fawfaa 2

(C)m-%\ (D) =red U

17. U ¥ S 93 snfd | awtem HTH i G ¥, 9 wea g o
(A) Tr=gm Jan (B) @R 7@
(C) waraf=res A : (D) =a= Al
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18. All trademarks are :

(A) Brands (B) Products
(C) Selling (D) Ultimate thing .

19. Who is associated with concept marketing myopia ?

(A) Levitt (B) Drucker

(C) MeceCarthy (D) Kotler

20. Skimming pricing is useful for : @
(A) Luxury goods Cp Consumption goods

(C) Necessities ,@’ @) Industrial goods

21. PNB was establsihed

(A) 1920 ® (B) 1894
© 193{2\\ D) 1976

22. Money market provides :
(A) Short-term credit (B) Agro credit

(C) Car credit (D) None of these
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18 W - A E

(A) @tz (B) IR

(C) faa () s awd
19. =i fauom sEuren Fee gfe § watea ® 2

(A) @z (B) BF1

91. WS AvEel A% ®a wrhd

(A) 1920 H \ (B) 1894 #
(C) 1934 \2\\ (M) 1976 #

(A) SETHEE T (B) Ff =W

(C) =1 B (D) T8 & = @
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23. Which is the apex financing insﬁtute for agriculture ?
(A) RBI (B) UTI Bank
(C) NABARD (D) Axis Bank
24. Narasimham committee is related to :
(A) Bank (B) Insurance
(C) Union Bank (D) HRM

25. Credit rating : O~®

(A) is used to rate the borrowers

(B) is used to work out pe of the employees

(C) is used to calcula@k number of excellent audit rated branches

(A) A stable liquidity (B) An increasing liquidity

(C) A strained liquidity (D) Satisfactory current solvency
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93, fa & fay vid fam Srow wer wFW ¥ 2
(A) s (RBD) (B) 7.damd. %
(C) s (D) UfFE ¥

24, TfdEw FHA TEHE B ¢

(A) % 4| (B) #m §
(C) I d= | m)mwa
95. @fzz W c)()

(A) aﬁwiﬂmmﬁimwakm
(B) mﬁmm@ﬁﬁm
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97 At which one of the following rate, the central bank lends to banks against

government securities ?
(A) Repo rate (B) Reverse repo rate
(C) Bank rate (D) SLR
28. What is a fiscal deficit ?
(A) It is a gap between the values of the exports and imports

(B) It is a gap between exports and imports minuys, external borrowings

(C) It is a gap between total expenditure an receipts of the govern-
ment O
- » TS
(D) It is a gap between total minus external borrowing

29. Expand the term ALM as \u@anking/ﬁnance sector :

(A) Asset Liability
.
(C) Asset Liabili agement (D) Asset Liability Manpower

(B) Asset Liability Maturity

90. What does the 18tter ‘R’ denotes in the abbreviation ‘BR Act' which controls

banking activities in the country ?
(A) Reformation (B) Regulation

(C) Reporting . (D) Resolution
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-27.'\ frfafan § A fFE @ W 299 ¥ TEi wRfd ® e WS W e

(T2
A e ®) fed W@

(O FF (D) Aufrs e I
98, @™ W@ ¥ T ?
(A) e Pl ot s @ ged B A w1 H §

\'(B) wwmmmmmﬁﬂam@
\

\(C) wm%a;aaﬁmvgamhﬂi@ ®

(D) 4% ®a Wied @ aed WE & o= ®

2. immmammqh%mﬁmm
(A wefa (B) W wf SR
(C) Tfw 3 a))'mfamaa-wﬁa
,30. s s N 2 # A e w fafE w §, T ae s
R (R) 70 WA F@ & ?

(A) frwlites (B) W@

(C) frafén (D) &R
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31.

32.

GAAP required to :

(A) Global harmonization in accounting

(B) Value

(C) Price

(D) Journal

When accounting standard board of India is constituted ?
(A) 1969 (B) 1977

(C) 1918 (D) 2006’@
Derivative instrument is : O

(A) Swaps , Equity

(C) Bond ‘ @ (D) Share

(A) Revenue ’\ (B) Items
(C) Depreciagion (D) None of these

Under which one of the following methods of depreciation is the amount of

the asset never reduced to zero ?
(A) Straight line method (B) Diminishing balance method

(C) Sum of year's digit method (D) Annuity method
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31.

32.

GAAP smavr® ¥ :
(A) wraim d Afvas gaeA
(B) &g

(C) T
(D) =

Ya B A EA WA Ale & o7 wE g 7

(A) 1969 (B) 1977

(C) 1918 (D) 200 @

= e ¥ o .' ,C)

(A) ¥y | @m

e 100,
e

(A) = \2\\ (B) ==l

() ®¥ " (D) ¥4 | =% T

frfefen # € wu 1 fag fafa @ swela wwfn # o Y T8 A 2

(A) wEra w9 fafa (B) wedt Wey fafy

(C) =d & % =t am fafy (D) =i fafy
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37.

38.

In the absence of any contract, profit arising from partnership firm is credited

to the partners capital account in :
(A) Equal proportion (B) Capital ratio
(C) Profit sharing ratio (D) Proportion to assets realized

The ratios which measure the relative contribution of financing by owners

and financing provided by outsiders are called :

(A) Liquidity ratios (B) Leverage ratios

(C) Activity ratios (D) Pwﬁé ity ratios

Company with a paid upcap:talofSOOO@shamRs‘ 10 each has a
turnover of four times with a margin fi sales. The ROI of the company
will be :

(A) 28% ®+ (B) 32%

(C) 356% (D) 42%

Concept of a@km refers to taking into account :

(A) All profit

(B) Only cash profit
(C) Only profit realized

(D) Profit realized and all possible losses
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37.

fedt sea & avEm # EEed W R 3OS B9 AW @Y TEen & fSt @
¥ frg s § wm feg w@ E 2 ‘

(A) =R S (B) st srum
(C) = fawms= s (D) == # 3@

% FAOW wfeEl g7 99 Al yEEr g fEe umw ow W s ¥, wee
t:

(A) @ 9 - (B) fe= sgm
(C) wfafafy sum (D)wwf!&w
uw Hee fawmt g Ot 10 5 A@ v # 48 g § 9 foaww

FHAR fawa W 8 whww ® WeA B W n & @ woEl F awa.end. e
wft ?

(A) 28 wiawm : @J"" (B) 32 wfawma
(D) 42

(©) 35uf%ma‘ wierer
wfgafem 1 o ® oA § wEd €2
(A) ¥t =

(B) #aa e @M
(C) waa & WE

(D) =Y wra a9 | gefaa wfEl
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41.

42.

Amount set apart to meet probable losses on account of bad debts is a :
(A) Liability (B) Reserve
(C) Provision (D) Contingent hLability

On using reducing balance method on an asset of Rs. 20,000 at the rate of
10% per annum, depreciation for third years will be :

(A) Rs. 6,000 (B) Rs. 1,800

(C) Rs. 1,620 (D) Rs. 2,000

Amount spent on an advertisement campaign, m&m of which is likely
to last for three years is a : 0

(A) Capital expenditure (B) nue expenditure

.
(C) Deferred revenue expendum@ Contingent expenditure
Consider the following items *@’

(1) Debentures

@

(3) Interes

(4) Bank overdraft

Current liabilities would include :

&) (@), (3 and (4) B) (1), (2) and ()

(C) (3) and (4) (M (1), (2), (3) and (4)
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41.

42.

" gl g W B wEo g W2 A g0 e @ g oem @ wdt R Al ofn

Feendl
(A) =fasE (B) 4=9
(C) wEHH (D) awfars TfaE

Im vzfa fafs =1 w@m @ go vw wwfa e geg 20,000 % % 39 W 10
wfagra @i =t @ R ad #1 gw ofn feest 2ot 2

(A) 6,000 % (B) 1,800 %.

(€) 1,620 % (D) 2,000 %

wF faare afaE T R T wd fee @ frer @ % 7% ==
e O

(A) e =3 S =Y

(C) wfia #Fm =4 At =1
fresferfem W AR +®

@ %,

(2) gETE ’@

(3) 2% w:Q\

(4) % sfufasd

w1 afee # Wi @ e

(A) (2), (3) 741 (4) (B) (1), (2) 7 (3)
(C) (3) 7@ (4) (D) (1), (2), (3) @71 (4)
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44. The portion of the share capital which can be called up only on the winding

up of the company is the :

(A) Authorized capital (B) Issued capital

(C) Subscribed capital (D) Reserve capital
45. Debentures can be redeemed by :

(A) Purchase of own debentures in the open market

(B) Converting them into a new class of debenture

OO

(D) Any of the method mentioned i +(B) and (C) above

(C) Converting them into shares

46. Which of the following ratios is important for judging the long-term

(B) Stock-turn-over ratio

(D) Fixed assets turn-over ratio

(A) Debt-equi »@
(C) Retum%estments |

solvency of a firm ? @

47. Income tax i8 & .....ccccce tax.
(A) Sole (B) Direct
(C) Sales (D) Indirect
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45.

47.

sigr 4 = A% feew S wEE B g W oHbn W@ §, w wwe o7
(A) wifga g (B) Frifim st

(C) wifem gt (D) wfea gt

HU-gA W wed fEm oo w@wa ¥

(A) E& =wR ¥ o@ # wmU-TE W F

(B) =¢ At & Fwo-weA A uftafda w

(©) s 3 fafin w @
O

(D) mm.m)m(mﬁnﬁhmﬁﬁh%

(A) mmm® (B) =% iy squm
N
(C) fafmEmi g2 (D) wardt wefa HAsiET sEuE
e Wt )
(A) THE (B) wead
(C) fawa (D) #weaH
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48, Assessment year starts from :

(A) 1 December (B) 1 April

(C) 1 June (D) 1 March

49. Person is defined u/s ...........

(A) 2(31) (B) 2(36)
(C) 19 (D) 2(45)
50. Income from salary involve income 6@
(A) Salary 0 (B) Allowance

\0
(C) Perquisites (D) All of these
651. In case of compan@%‘wﬂl signed on return of income ?

(A) Manam (B) Manager

?\
Au (D) Accountant

52. Gratuity is taxable under the head of income from :

(A) Rent (B) House property
(C) Salary (D) Profession
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(A) 1fwT=r 3 (B) 1 30a &
(C) 193 R | (D) 1 WE A

49. =fd =+ 59 w8 sr=aria uftafea fem T & 2

(A) 2(31) (B) 2(36)
(C) 19 (D) 2(45)
50. ¥ ¥ I FFY WG W Wit wE E 2 o@
(A) T (B)
N ¢
_—— ®®m
51.  wwrit % zwn # a3 W E R R
(A) vy fReE. \® (B) WeEHH
(C) FhuH D) FAGHR

52. U= sl & 5w wm # ool w-Ara ¥ 2
(A) feu (B) w&™ wwid
(C) W (D) T¥m
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55.

57.

Who is liable to pay any tax is called ?

(A) Assessee (B) Buyer

(C) Tax (D) Authority

Income from the sale of land is a/an :

(A) Non-agricultural income (B) Cost

(C) Expense (D) None of these
Exempted income is : O@

(A) Provident fund ) Lottery

.
(C) Horse race & (D) All of these
Delhi Municipal Cor@*‘h

(A) Company \@ (B) Firm

(C) Local ‘authority (D) None of these

Which business losses are allowed ?
(A) Loss due to dacoits (B) Salary

(C) Wages (D) None of these
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F1 23 B fou o SoErE &, 9% wEem ¥

(A) T (B) @

(€) = (D) wifeETY
54. 4 & fawa ¥ 3 ¥ .

(A) g s (B) @@ -

©) =+ m)nﬁli&%ﬁ
55. W W E % : S

(A) wige fafy &90

(C) =3t =1 g ) A gt
56. el e f +®

& we

(© mﬁm%z\ D) ¥ A wg T
57. @ SrEEas wif wiea § 2

(A) =&t %t w9 | A (B) &

(C) el D) & A =R T
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59.

6l

62.

DTC is related to :

(A) Tax » (B) Agriculture
(C) Paper (D) Bank
Which is an indirect tax ?

(A) Sales tax (B) Income tax
(C) Toll tax (D) All of these

Income received in India in previous year is taxable, in the hands of :

(A) Resident (B) N ent

(C) Non-ordinarily resident ) g)of ’ these

Raja of which princely state fled , mountains to escape sikh army’s attack
around 1840 A.D. ? +

(A) Mandi @ (B) Suket

(C) Kullu (D) Kehlur

Which raja of ur princely state built the Taragarh fort in the territory

of Chamba state ?
(A) Jagat Singh (B) Rajrup Singh

(C) Suraj Mal (D) Bir Singh
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59.

61.

62.

DTC sy ¢

(A) :T R/ (B) &4 |

(C) TR A D) % |
FIH T T E ?

(A) fara == : (B) EHT

(€ 2= &= D) A |l
mﬂimﬁmmﬁmmﬁmw?
(A) framr (B) 6@

(€) - Framet D), 3 Wit

frg frame =1 T T 1840 F fogl =1 ¥ # IFEHy A g9 & &Y

TR
N

wm%m«mﬁwmﬁa}aimmmﬁmm ?

(B) H&a

(C) e (D) FEX

(A) v fHw (By Toeq T4y

(C) w7 (D) i feE
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63. At whit place does the river Beas enter Kangra district of HP. ?
(A) Mirthal (B) Sandhol
(C) Bajaura (D) Chauntra

64. In which District of H.P. is Lama Dal Lake ?

(A) Lahaul-Spiti (B) Kinnaur
(C) Chamba (D) Kangra
65. What is the main occupation of Turis ? o&

(A) Agriculture (B) t making

&
(C) Weaving @Mwﬁc and dancing

66. In which District of HP "*m.pe.kv

\ (B) Lahaul-Spiti
(©) Kmna}b (D) Kangra
67. Which of the following dance is performed in the memory of Buddha ?
(A) Bakayang (B) Bonangchyu
(C) Japro (D) Shand
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66.

67.

= T A mm W few # = o va@w w2
(A) fargs (B) wH&

(C) =i (D) <z

o B e fen. & few @ d & 2

(A) wmge-feafa (B) fr=in
(C) = (D) =T
T wfa & oW Oy waeE o ? o@
(A) Ff (B) LRI
(C) T HTA ﬂmdnia:m
fereen wda 9@ few %ﬂ@‘*@t?

(B) wige-feafa .

(©) ﬁﬁm\z\ (D) wiTE

frafafas § | sFm 59 woon 9 #1 9% § fFw s & 2
(A) =AM (B) A=y

(C) =i (D) W
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69.

70.

71.

72.

In which District of H.P. is Talra sanctuary ?

(A) Shimla (B) Kullu

(C) Kinnaur (D) Solan

Which of the following paintings does not belong to Shobha Singh ?
(A) Hill Scene (B) Sohni-Mahiwal

(C) Gaddi Belle (D) Kangra Bride

Which of the following hydro-power projects @Ihenab basin ?
(A) Killar (Boms:u

4
(C) Thirot &) All of these

Which Indian State’s/UT" Qﬁ is ‘Give Time a Break’ ?

(A) Ra,;asthan @ (B) Madhya Pradesh

(©) Pudu*% (D) Chandigarh

With which sport is Shakshi Malik associated ?
(A) Wrestling (B) Badminton

(C) Table Tennis (D) Gymnastics
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68. TEW YURYA fen. & fau fem A § 7
(A) fymen (B) el
(C) fF=in (D) He

§9. Trofefas § R Frew dfen w fag =t @& & 2

(A) fem = @) At
(C) T A " () wmE AEs
70. fremfas § 4 Swd s@ faga ofEdeE e e ?

(A) e (B)%

L 4
() fa= (b®ﬁmﬁ
71. mmmmmz@*m'mmqm't 7

(A) TR ,® (B) WA WH

(C) vE==h (D) =vEMZ

72. W ufew faw @@ A g0 ¥ ?
(A) FHydl (B) #=fiz

() Z=w 2" (D) famfss
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73.

74.

-T5.

76.

Who among the following is/are associated with all party Hurriyat confereno-e
of J and K ?

(A) Syed Ali Shah Geelani

(B) Mirwaiz Umar Farooq

(C) Yasin Malik

(D) All of the above

Popular movie ‘Border’ was based on the battle of ............

(A) Saragarhi (B) Kasb@

(C) Longewala | (D) IQ;, of these
3

Who among the following has been d@xr Dronacharya Award in Boxing

after the 2016 Rio Olympics ?‘ @
(A) Nagapuri Ramesh (B) Sagar Mal Dhayal

(C) S. PradeepRuw (D) Mahavir Singh

Approximately how many vital sites were ruined in the earthquake that shook
Italy in August 2016 ?

(A) 96 (B) 130

(C) 293 (D) 457
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73.

74.

75.

76.

frafafan § @ #F w-Fwin ® s T i weeE @ 92 ¥ 2

(A) ¥z e o frer

(B) Hay 9 wEw

(C) = afes

(D) swdam w+fi

wwwg fren 'ardy’ foq ogd w amafa % 2

(A) ST (B) @i

(C) wiiarer (D)@ﬂhﬁ
mlewﬂ@mﬁmm%mﬂmmmrQ%
fod 3w ¥ 2

(A) =TI @ ®+ (B) WM W@ WY

(C) w8 W (D) werE fog

gZet H I mmﬁwﬁmﬁm@im(M)WR
(A) 96 (B) 130

(C) 293 (D) 457

PGT (Commerce) 2016—B 35 P.T.O.



78.

79.

Which city of Myanmar is known a city of Millions of Pagodas ?
(A) Magwe (B) Pakkoku
(C) Yenangyaung (D) Bagan

Which country is collaborating with India in building six Scorpen class

submarines ?
(A) England (B) Belgium
(C) Russia (D) France

Against whom did P.V. Sindhu play her bat)@ final at the Rio Olympics

2016 ?

(A) Kelly Hoare @@ Carolina Marin
(C) Nazomi Okuhara + (D) Thiang Vaung
What is Guan . Naval base in Cuba known for ?
(A) U.S. Naval Training Centre

(B) U.S. Military Prison

(C) U.S. Submarine Station

(D) U.S. Ship Building Yard
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78.

79.

=R & fHg e w1 Al Smesh w1 el Fe o &2
(A) = (B)W!ﬁ'ﬁ
(C) FATm (D) =T+

i St # v yEefer! T § B 2w YR & W9 e oW ¥ 7

(A) ¥ (B) afesam
(C) =9 , (D) wiE
2016 =1 foit siwfogem d dqiEl. fasg 3 & ﬁm%.m@a! ?

(A) el B ( g#-nmth

(C) =t e )

wpa § for e @ .\;mmﬁmmmﬁ
(A) -FwlE x HqO HE

(B) it =i I

(C) swiE &1 TAgsl ©¥A

(D) i 1 fy fafegn g
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81. BEP is computed by :

(A) Fixed cost/PV ratio (B) Fixed cost/100

(C) 100/Fixed cost (D) Sales/Profit

82. EOQ is computed by :

(A) 2D/C; (B) C/100
(C) 2DGC,/C; (D) D/100
83. © Kinds of share cpaital is : O@
(A) Bond - (B) Mutual fund
(C) Equity share capitm @) All of these
84, Proprietary ratio r@\ﬁhe shareholders fund to :
(A) Total as\ | (B) Profit
(C) Loss | (D) Dividend

85. Inventory turnover ratio is known as :

(A) Cash ratio (B) Cost ratio

(C) Stock velocity (D) Profit ratio
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81, "~ wn-fawe fag = Torn #3 = W ¥ 2
(A) T SrRE/AY-HTE ST (B) TR =mmav100
(C) 100/fegz = (D) fawaram

82. b #RW WE (EOQ) i WM HI At ¥ :

(A) 2D/C; (B) C;/100
(©) 2DC,/C, (D) D/100

83. 3w Ust & YR ¥ : @
(A) vz (B) %a?wz
(C) wwan 3w gt (b@iw

84. I AT (Proprietary ,'mﬁmammmt?

(A) ﬁawﬁrzﬂ,\'& (B) #W

(C) #f4 (D) =W

(A) e 3T (B) ®IW ETE
(C) wfw T (D) <™ I
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87.

88.

89.

90.

Which reflects changes in the working capital ?

(A) Balance sheet (B) Sales

*(C) Fund flow statement (D) Profit

Material usage variance is computed by :

(A) (5Q - AQ) (B) AQ/SQ

(C) (SQ — AQ) x SP (D) SP x AQ

Nominal Alc is : O®

(A) Wages Alc Patent Alc
.

(C) Prepaid Ale (D) All of these

Debit the receiver an@*’k the giver is rule of :

(A) Nommal " (B) Personal Alc

(©) smé%\ (D) Rent Ale

Capital account is opened in case of :
(A) Merger (B) Partnership of business

(C) Purchase of business (D) Trading
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87.

aﬁmmmﬂﬁat{aﬁﬁvﬁaﬁ?ﬁwﬁamt_?
(A) feafa faam (B) fam=a
(C) =m-yare faam (D) =Y

et yEm faer &1 S & s § o

(A) (SQ - AQ) (B) AQ/SQ
(C) (8Q — AQ) x SP ' (D) spx:z&
qHHE @ E o O
(A) Heigdl @ (B) Ga’arm

L
(C) =fog @ @ DEE |
tﬁzﬁﬂﬁm.mmﬁh«ﬁmtz

(A) =HErE @ @0 (B) =fFrma @

(C)aaam\b (D) fFom amn =

st = fem g # wen s & 2
(A) foem (B) WHEEH sqau

(C) =7aad %3 (D) =R
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91. When a company whatever amount is demanded after allotment is known

as :
(A) Call money (B) Paid up money
(C) Profit (D) Share

92.  When net profit is Rs. 2,25,000; taxes Rs, 25.000 and net worth Rs. 10,00,000,

what is the rate of return on shareholders’ equity

(A) 225% (B) 2@
©) 25% @c’axmz be calculated
93. Receipt and payment accou ’ transactions of :
<
(A) Revenue r_ecsip@payments 'only
(B) Capital ipt§ and payments only

(C) All receipts and payments relating to the current year only

(D) All receipts and payments relating to the current year, succeeding year

as well as preceding year
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91.

93.

W9 UH FHEE EE # g w ufe qivet f @ 3 s €.
(A) Fram e (B) s&a ufw
(C) @y (D) 3w

A 7[& =9 2,25,000 %, F 25,000 7. 3R 7z TW@ 10,00,000 5., 8 A srernfra

& WS YW WS W1 qL = A ?

(A) 225% (B) 20150®

O

(C) 25% T AR B SN Wl
wifg st sy = e a3 | ’mmt?
(A)mm @

(B) mmmg’m

(C) =] @ |/ wafya adt witedl el sy

D) =g 94 F we-wy o ad § wafh wd wfedt sk e
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A machine with a written down value of Rs. 10,000 has been sold for

Rs. 13,000. The amount realized is a :

(A)

(B)

(C)

(D)

Capital receipt and profit involved should be transferred to capital reserve
Revenue receipt
Capital receipt and profit involved should be transferred to general reserve

Capital receipt and profit involved should be transferred to Profit &
Loss Ale

Making the provision for bad and doubtful debts h@aﬁon of actual bad

debts is on the basis of : O

95.
(A)
(B)
(C)
(D)
96.

Convention of disclosure . " :
Convention of consistency @&
Convention of conse

Convention gf i ' e and consistency

A and B an&ﬁx sharing profits and losses in proportion 2 : 1. They
admits new er C whom they give 1/6th share in profits. The new profit

sharing ratio will be :

(A)

(C)

8:4:3 (B) 3:2:1

o7 X2 D) 4:2:1%1

PGT (Commerce) 2016—B 44



94. uw #eiA forge sv@fEa g59 10,000 % %, 3% 13,000 & H 39 &1 9@ £, o9
utyr weard ¥ o:

(A) deirma wite qw ety o, 361 w99 4 waefa ey W sf

(B) s Wi

(C) efma wite aun w=fe oy, I 999 4 waiaia w9 =fee
(D) i wifta aun w=fua oy & ev-wf @R § waaia o wm ik

95. drEfa® TE WY H GEiAEA § g4 wH i wiey Ffe SENE &6

wiga ®w@ ¥ T ey-wfa s @m o

(A 8:4:3 (B) 3:2:1

) 2:1:1 D 4:2:1
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97.

98.

100.

Which one of the following accounting equations is correct ?

(A) Assets

Owner’s equity

(B) Assets = Liabilities + Owner's equity
(C) Assets = Liabilities — Owner’s equity
(D) Assets + Liabilities = Owner’s equity
Consider the particulars given below :
Sales = Rs. 60,000

Variable cost = Rs. 25,000 @

Fixed cost = Rs. 30,000 O

Based on these data, the oper@gverage shall be :

(A) 5 (b B) 7
(C) 8 @k ™ 9

Marginal

(A) (B) Full cost

(C) Pure cost (D) None of these
AFC is computed by :

(A) TFC/Q (B) QFC

(C) TFC/FC (D) FC/TC
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97. Fr=fafad d 4 #a Saiss s 9@ 2
(A) i = =mifte =1 s
(B) wmfw = zifae + wfae &1 shedd
(©) @=fd = 2fsw — =it 31 sfad
(D) w=iY + e = =fha F7 3feet
98. 2 fw wu fagmr w owE A .
&g = 60,000 =
i @ve = 25,000 . @
frar @ = 30,000 = OO

I BRI B YR G HEEA ?

(A) 5 7
(C) 8 @k M 9

(A) aﬁﬁa%\ (B) i @

(©) (D) w7 | F¢ 78
100. hwa ™E @U@ W WU FT ST O§ .

(A) TFC/Q (B) QFC

(©) TFCFC (D) FC/TC

PGT (Commerce) 2016—B 47

P.T.O.



